

87498 32973

Dist.- Goalpara (Assam)

98541 58505

TIN - 18820171287

97072 23621

Deals in : Concrete Post, Latrine Plate, Well Ring, Ventilation, Filter etc.

(B.D. - We make contract and order too)

Order No. .... Dudhnoi College

Date 15/2/2020

To, The principle of Dudhnoi college

Sl. No.	PARTICULARS	Size	Qty.	Rate	Amount	
					Rs.	P.
1	Ring well (Garbage pit)	2 1/2 ft.	10 Pcs	600	6000	50
2,	Carrying Charge				600	
VR-296  Principal & Secretary Dudhnoi College   Sonjoy Rabha						
<b>TOTAL</b>					<b>6600.50</b>	

(Rupees in words Six thousand Six hundred only) only.

Proprietor  
For [Signature]  
District Collector Minor Industries  
Darrang  
Dist. Goalpara (Assam)

# GARDEN NURSERY

Dudhnoi Gauhati Road, Assam

P.O.- Dudhnoi Pin- 783124

CONTACT NO:- 7635992337, 8822572130, 9436313707

Deals in : All kinds of Quality seeds, Plants & Graft, Cutting, Plants, Flower Plants, Agriculture Tools, Organic manure, Carpet Grass House Plants, Fruits Plants, Vegetables & seeds (Retail & Whole sale) Contact for Gardining General order supplier.

Date: 4/11/20

Name: Dudhnoi College

Address: Dudhnoi Goalpara Assam,

Sl. No.	DESCRIPTION OF GOODS	Qty.	Rate	AMOUNT Rs
1.	Chandim Medium	10 NOS.	@ 50/-	500.00
2.	Crotton yellow (big)	1 NOS.	@ 550/-	550.00
3.	Crotton Red (big)	2 NOS.	@ 300/-	600.00
4.	190ra Medium	6 NOS.	@ 60/-	360.00
5.	Cerium (small)	2 NOS.	@ 100/-	200.00
6.	Pine tree (small)	2 NOS.	@ 160/-	320.00
7.	Dracaena (small)	4 NOS.	@ 60/-	240.00
8.	Organic Manure	15 kg.	@ 30/-	450.00
9.	Turkey Medium	20 NOS.	@ 130/-	2600.00
10.	Labour			400.00
NR-166				6,190.00

Rupees in words: Six thousand one hundred and ninety only. TOTAL Rs. 6,190.00

Principal & Secretary  
Dudhnoi College.

Signature  
7/12/20

Signature  
Garden Nursery

Goods once sold cannot be taken back

GSTIN: 18AVMPB0173G1ZS

Ph:83999-42873

**DIGANTA BORAH**

Dr. Rp road, Behind Mla Hostel. Ganeshguri, Guwahati-781005. (Assam)

E-mail- dig60512@gmail.com.

To The PRINCIPAL  
Dudhnoi College  
Dudhnoi, Assam

Invoice No.

DB/21-22/001032

Date:

09-11-2021

State Code:

18

GST No. NA

Place of supply:- DUDHNOI COLLEGE

Transporter:- NA

Vehicle No.

Sl.No.	PARTICULARS	QNTY.	UNIT	RATE	AMOUNT	
1	Solar Street Light (Havells) MPPT PCU(Off-Grid)	5	Nos	20300.00	101500.00	
Our Banker: State Bank Of India					TOTAL	101500.00
A/c No. : 20113240298					TAXABLE VALUE	101500.00
Name : DIGANTA BORAH					SGST	6%
IFSC Code : SBIN0010670					CGST	6%
Branch : AEC BRANCH					TOTAL	113680.00
					Round off	0.00
Carriage & Installation						3500.00
TOTAL GST: 101500.00					Grand Total	117180.00

Rs. In words

One Lakh seventeen Thousand One Hundred Eighty Rupees only.

- Services once sold will not be returned or exchanged.
- Payment within 15 days
- Post 15 days interest @ 3% p.a.

Certified that the above are true and correct

For DIGANTA BORAH  
Govt Regd  
DIGANTA BORAH  
Manager

Principal & Secretary  
Dudhnoi College

Date- 28 - March - 2022

## INVOICE

Invoice No.	TEC/ENA/02				
Invoice To	Mr. Lalit Ch. Rabha - Principal				
Company	Dudhnoi College Dudhnoi				
Address	Dudhnoi				
City	Goalpara	State:	Assam	ZIP:	783124
Contact Details	+91 86381 03337				

Sr. No.	Description	Qty	Rate in INR	Amount INR	
1	Environmental Audit at Dudhnoi College, Dudhnoi. Fees of Environmental Audit is Rs. 20,000/-	1.00	10,000	10,000	
2					
3					
Particulars of Advance:				TOTAL	10,000
				Less Advance received (if any)	0.00
				CGST	-
				SGST	-
				Net Due	10,000
Amount in world				Rs. Ten Thousand Only	



*[Handwritten Signature]*

For Thunderbolt Energy Consultancy  
Authorized Signatory

### Details for Electronic Transfer

Name of A/c Holder	Thunderbolt Energy Consultancy
Account Type	Current Account
Account Number	0720 8580 0000 359
Bank Name	Yes Bank Ltd, Shankar Nagar, Pune -411009
IFS Code	YESB0000720

Thank you for your business

*Che No - 003262 Dt. 30/3/22*

Date- 28 - March - 2022

## INVOICE

Invoice No.	TEC/GA/02			
Invoice To	Mr. Lalit Ch. Rabha - Principal			
Company	Dudhnoi College Dudhnoi			
Address	Dudhnoi			
City	Goalpara	State:	Assam	ZIP: 783124
Contact Details	+91 86381 03337			

Sr. No.	Description	Qty	Rate in INR	Amount INR	
1	Green Audit at Dudhnoi College, Dudhnoi. Fees of Green Audit is Rs. 20,000/-	1.00	10,000	10,000	
2					
3					
Particulars of Advance:				TOTAL	10,000
				Less Advance received (if any)	0.00
				CGST	-
				SGST	-
				<b>Net Due</b>	<b>10,000</b>
Amount in word				Rs. Ten Thousand Only	



*(Handwritten Signature)*

For Thunderbolt Energy Consultancy

Authorized Signatory

## Details for Electronic Transfer

Name of A/c Holder	Thunderbolt Energy Consultancy
Account Type	Current Account
Account Number	0720 8580 0000 359
Bank Name	Yes Bank Ltd, Shankar Nagar, Pune -411009
IFS Code	YESB0000720

Thank you for your business

*Che No - 003262 Dt. 30/3/22*



# DUDHNOI COLLEGE, DUDHNOI

Dudhnoi, Goalpara, Assam

Pin-783124

Date 22/3/22

Voucher No. 1718

Particulars	Amount	
	Rs.	P.
Head of Account <u>Dustbin Const. Alc</u>	<u>5850/-</u>	
Being the amount paid to <u>TAPAN DAS</u>		
On account of <u>Supply 1000 NOS Bricks for Const.</u>	/	
Rupees <u>Five thousand eight hundred</u> <u>fifty only</u>		
<b>TOTAL</b>	<u>5850/-</u>	

Tapan Das  
22/3/2022

Stamp  
with  
Sign.

Che No - 003243

[Signature]  
Accountant

# AKIB GRILL INDUSTRY

West Matia-783125, P.O.- Matia

Dist.- Goalpara (Assam)

Ph. No.- 91010-81260

Name: \_\_\_\_\_

Date: 19/07/21

Address: Dudhnoi College

Sl. No.	PARTICULARS	Qty	Rate	AMOUNT	
				Rs.	P.
①	Keeling in Garden  25000 for 27/8 men  @ 19/7/2021 Principal & Secretary Dudhnoi College.  VR-39	252	Kg 100/-	25200 = 00	
<b>TOTAL</b>				25200 = 00	

(In words) Rupees... Twenty five thousand  
... two hundred ... only.

Signature

Arundel Anoop

# GOLAP NURSERY

Vill-Choutara, P.O.-Bhitorduar

Dist- Kamrup, Assam

PIN-781137

Phone No.9613381653

Name: Principal  
 Address: Dudhni College Date 3/8/2021

SI No.	Particulars	Rate	Amount	
			Rs.	P.
	সমস্ত পুষ্টি - ২০ টি	300/-	3000	00
			<b>Total</b>	3000 00
			<b>Adv.</b>	
			<b>Bal.</b>	

VR-58

*[Signature]*  
 3/8/2021  
 Principal Secretary  
 Dudhni College

(In words ..... only)

*[Signature]*  
 Sign of Proprietor

Goalpara, RHAC (Assam)  
 GSTIN : 18AA MEN189IN1Z1  
 Ph 7002787852 / 9435323698

Address: Dudhnoi College  
 GSTIN No. ....  
 PAN No. .... M. No. ....  
 State Code :   Date: .....

Sl. No.	Name of Goods	HSN	Qty.	Rate	Amount	
					Rs.	P.
1.	Visitor chair	9403	5 NOS	2288 '14	11440.	7
2.	Visitor chair	9403	2 NOS	1610 '17	3220.	34
3.	Wheel chair	9403.	1 NOS	8905 '08	8905.	08

Principal & Secretary  
 Dudhnoi College  
*Rahul Kumar*  
*16/5/23*

**: Bank Details :**  
 Bank : ASSAM GRAMIN BIKASH BANK  
 A/C No.: 7303050002196  
 IFSC Code : PUNBORRBAGB  
 Branch : Dudhnoi.

<b>SUB TOTAL</b>	22966.	12
Add : CGST 9%	2066.	95
Add : SGST 9%	2066.	95
Add : IGST <i>Retaining</i>	200.	00
<b>Total After Tax</b>	27300.	00

Rupees (In words) *Twenty Seven*  
*Thousand Three Hundred* Only.

For,  
 M/S. NEW FURNITURE HOUSE

Signature of Purchaser      Subject to Goalpara Jurisdiction.      Authorised Signatory

We are not responsible for goods after delivery from our Godown

Expenditure for purchasing flower Plants on "World Environment day" (05/06/2022)

Details:

SLNO	Name of flower Plants	Number of Plants	rate	Amount
1	Ashoka flower	5	Rs 200	5xRs 200 = Rs 1000/
2	Thuja	10	Rs 80	10x Rs80 = Rs 800/
3	Muchanda(Red)	2	Rs 200	2x Rs 200 = Rs 400/
4	Muchanda(Pink)	10	Rs50	10 x Rs 50 = Rs 500/
5	Pink hibiscus(Jawa)	2	Rs 100	2x Rs100 = Rs 200/
6	E-rickshaw fare			Rs 100/
Total				Rs 3000/

  
Principal & Secretary  
Dudhnoi College

  
(Bidyut Kalita)

Dept. of mathematics

Received  
Rs. 3000/-



Ch No - 003458 Dt. 9/6/22